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flllfoft : ~~ 3i1Cil?£1Cfl -;:r -m-"lR ~ ~-11?f CfiT ~ ~ m ~ m ~ fcfim -~ ~ ~ 

-~. ~~~~Cfil~~m:~~~ 

wm ~ ~ ~~ 
All questions are compulsory. 

1. r~~f(?lf~a -ij ~ ~ w CfiT ~ ~ : 4x2=8 

Translate any two of the following : 

(i) ~s~~ ~ ~ cfrcR ~ 1 

o~ ~~H1UIIM~ -;:r ~ II 

P.T.O. 



( 2 ) 

. (iz) -;f:j f~f-fl ~lf?llfUI -;f:j · ~ ~:I 

-;; ~ ~~lH"lll41 -;; ~fltS!llfu lffiief: II 

(iii) ~"1!*ili11~nsfui >kllctllll. -;; ·fci'W 1 

fq~Jil4'l4 ~ ~ lWclT ~II 

(iv) 'liT f.:Mr ~~ ~ · \l'f1'l1ftf ~ I 

~ ~ ~ m .f.:Mr ~~:II 

2. f1~f<?tf@d ~ ~ ~ w Cfl1 ~ 041&:11 ~ 

. . 

Explain any two of the following with reference to the conext : 

(i) -.,rmft fci'W , 'l1fCfr -;;T'l1JC?r ~ -mf: I 

~ ~S'"fl«"Ct1tfl«1'6=i~f}(lf<q: II 

(it) ~ err Jlli.Lf!Olf~ m ~ err ~~ ~I . 

dfliiSf~tiSd · -~ ~ qldf1~'qll: II 

(iii) ~: ~ Cfl4ffUI WT ~ 't119(\ltlll 

r~~(;jfft"~1:. ~ ~- ~- <Wr ~~~ 

(iv) mf.:r ~ ~ ·~ 3mffi:r ~: I 

. "ct'Vf fu' ll f4 f -s\ lll fU1 CR=lJ ~ lll fa ft&t I II 
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2x6=t2 



( 3 ) 1912 

Describe the 3lR'l1T on the basis of lind chapter of Gita. 

·(Or) . 

lfioi ~ ~ 31~ . ~- ~ 1~1 'cfi ~~ CfiT f1(C\qUj ~I 

Describe the features of '~' according to the second chapter of the 

Gita. 

.2x4=8 

Translate any two of the following 

(i) ~ ~llllllf~ Jj('j~qlOiHfl 

~t11Ul Jlf~~f-8 g;1fcf\i1~1 ~:I 

P.T.O. 
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. ' 

·(iv) .~w:rr ~trf~ai 2om~:q .~ 

2x6==12 

Explain any .two of the following with reference to the context : 



( 5 ) 

(il) m.wn ~ 'lffi:: !H4CR'Fk"1*4 TI .w:r:, 

(iii) q•mc:m1 ~ 14l1 ~ {C\q~ih.1i011~: 1 

CllflctG'dl~<& ";f TI ~ 'lffr ~II 

(iv) <ffG ~ ~ ~o::lliOI~fu~~l 

3l~ fcrwn CIT ~w:ft ~ ~ ~II 

Write the importance of the fifth act of 4 '851crtC!IfiCIG'd'{1
• 

(Or) 

Sketch the character of Cllfi9G'dl as depicted in 
4 

'851crtC!Ifi<!:CIG'd'{'· 

Disjoin Sandhi in any three of the following 
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3x2~=7~ 

II 

P.T.O. 
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8. f.1l01fMf@d ~ "fr ~ 'ffi;J ~@:S{chd ~ ~ ~.~ ~ ~. 

1912 

Name the case ending in any three of the following 

(ii) ~ $df1:("CC~: I 

(iii) ~ ~ 31~: I . 

(iv) .?iffl"li ~I 

(v) · il ~J~' 

(vi) ~ 0:1 I{ a:rftr m:c:r l 

. 6 

1912 

3><2!h=7Y2 

1,000 


	001

